



Vendor Ranking				
Letting:	02251217	December 17, 2025 11:00 AM	Call Order: 001	Contract: E21Q6-R0
District:	District 2		Counties: ALACHUA, DIST/ST-WIDE	Fed Aid No: N/A
Contract Time:	365 CALENDAR DAYS			Project(s): 41021347277 (*)
Contract Desc:	Gainesville Maintenance Outfall and Pond Mowing			

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BOONE IMPROVEMENTS, INC.	Responsive	Winning bid	\$243,750.00	100.00%
2	COLLINS LAND SERVICES, LLC	Responsive	Non-Winning Bid	\$271,875.00	111.54%
3	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$309,375.00	126.92%
4	GRADING & BUSH HOG SERVICES IN	Responsive	Non-Winning Bid	\$312,500.00	128.21%
5	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$312,500.00	128.21%
6	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$340,625.00	139.74%
7	GRSC, INC.	Responsive	Non-Winning Bid	\$346,875.00	142.31%
	AL-MUMIN ENTERPRISE LLC	Non Responsive	Non-Winning Bid		
	ALPHA-OMEGA TRAINING AND COMPLIANCE INC	Non Responsive	Non-Winning Bid		
	JDMF LLC	Non Responsive	Non-Winning Bid		
	QUALITY LAKE MANAGEMENT, INC	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Page 2 of 2

Vendor Ranking

Letting:	02251217	December 17, 2025 11:00 AM	Call Order: 001	Contract: E21Q6-R0
District:	District 2			
Contract Time:	365 CALENDAR DAYS			
Contract Desc:	Gainesville Maintenance Outfall and Pond Mowing			
Counties:	ALACHUA, DIST/ST-WIDE			
	Fed Aid No: N/A			
	Project(s): 41021347277 (*)			



Tabulation of Bids

Page 1 of 4

Letting: 02251217 **December 17, 2025** **Call Order:** 001 **Contract:** E21Q6-R0
District: District 2 **Counties:** ALACHUA, DIST/ST-WIDE **Fed Aid No:** N/A
Contract Time: 365 CALENDAR DAYS **Project(s):** 41021347277 (*)

Contract Descr: Gainesville Maintenance Outfall and Pond Mowing

The improvements under this work document driven contract consist of slope mowing and litter removal to maintain outfall ditches and retention ponds, including areas that may be saturated or have standing water, as listed in the bid items and appendix within state maintained right of ways in Alachua and Bradford Counties. Work will include mowing berms, slopes, pond and ditch bottoms, as well as trimming around trees, drainage structures, etc. Hand tools and power equipment such as hand trimmers and specialized mowers may be required to perform the work. All grass and vegetation will be mowed to a height of 6 inches plus or minus 1/2 inch. When determined by the Engineer, certain areas, due to location, may be cut to a height of 4 inches plus or minus 1/2 inch. Mobilization and Maintenance of Traffic and herbicide application are incidental to the pay items listed. RENEWAL OPTION.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) BOONE IMPROVEMENTS, INC.		(2) COLLINS LAND SERVICES, LLC		(3) JT RUBY CONTRACTING SERVICE INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SLOPE MOWING (AC)								
0005 E107 1 1		625.000	195.00000	121,875.00	50.00000	31,250.00	100.00000	62,500.00
LITTER REMOVAL		AC						
0010 E107 2 2		625.000	195.00000	121,875.00	385.00000	240,625.00	395.00000	246,875.00
MOWING (SLOPE)		AC						
0001 SLOPE MOWING (AC) Section Totals:				\$243,750.00		\$271,875.00		\$309,375.00

Contract Grand Totals:	\$243,750.00	\$271,875.00	\$309,375.00
-------------------------------	---------------------	---------------------	---------------------



Tabulation of Bids

Page 2 of 4

Letting: 02251217 December 17, 2025			Call Order: 001		Contract: E21Q6-R0			
Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) GRADING & BUSH HOG SERVICES IN		(5) HIGHER GROUND LAND SERVICES, LL		(6) T & M LAWN-FENCE SERVICE INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SLOPE MOWING (AC								
0005 E107 1 1 LITTER REMOVAL		625.000 AC	100.00000	62,500.00	125.00000	78,125.00	100.00000	62,500.00
0010 E107 2 2 MOWING (SLOPE)		625.000 AC	400.00000	250,000.00	375.00000	234,375.00	445.00000	278,125.00
0001 SLOPE MOWING (AC) Section Totals:				\$312,500.00		\$312,500.00		\$340,625.00
Contract Grand Totals:				\$312,500.00		\$312,500.00		340,625.00



Tabulation of Bids

Page 3 of 4

Letting: 02251217 **December 17, 2025** **Call Order:** 001 **Contract:** E21Q6-R0

Line No / Item ID Item Description <small>() indicates item is bid as Lump Sum</small>	Alternate	Quantity Units	(7) GRSC, INC.		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
			Unit Price	Ext Amount						
SECTION: 0001 (SLOPE MOWING (AC)										
0005 E107 1 1 LITTER REMOVAL		625.000 AC	95.00000	59,375.00						
0010 E107 2 2 MOWING (SLOPE)		625.000 AC	460.00000	287,500.00						
0001 SLOPE MOWING (AC) Section Totals:				\$346,875.00						

Contract Grand Totals: **\$346,875.00**



Tabulation of Bids

Page 4 of 4

Letting: 02251217 **December 17, 2025** **Call Order:** 001 **Contract:** E21Q6-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.